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TEAE FERE (Uif) ¥ 97 & 974 &g WA qifen | WRITTEN TEST FOR THE
POST OF TECHNICAL ASSISTANT (MECHANICAL)

g FEeTTH) ki =50N/mm T k2=100N/mm 3 2 e FEeT &1 Fo 37 weiiiarar #18% 1F
HATAT Hatowl & Feree @0 B Aty 50kgf wis # wry Fwen £ gonar @isg B & aEer ve
wiam gatant & fEsat & oo e FERan o T B o g’ = 10mis?yTwo helical

springs of stiffness k1=50N/mm and k2=100N/mm are connected mn senes and parallel combinations as
shown in figure, if the system of springs is loaded with 50kgf load then the resultant deflection of springs in
parallct and serics combination respectively is! (assume"g' = | ms™)

o e
| 5 ¥
mé =K =K
= i
"
i = He
Sk f '_llﬂ'i
SokgF
{a} 333mm and | Smm {(b)  5.5mm and | 2mm
(e} 15mm and 3.33mm {d} 1 2miem and 5. Smm

Fur TaEner gfsE fR (@ Sooe ek, WedTeua A A SEei T A SR
F5T & HES $The moximum energy that can be whsorbed up to the clastic limit, without creating a
permanent distortion is called

{a) W& SrUEALProofl resilicnce

(b)  WETEAT & AT/ Modulus of resilience

() #rearToughness

(dy  FTTHAT T Flexural ngidity

FE UF el ey W & T Uw B 9 5w W § aw 500N et ars & ahe ),
g & srefer T 24mm T & oft 92 ¥ ww g @ gud wEE ¥ T 8% A9

w3 & A7 7aE wis § snhs R £ offr FEe g When a rod of circular cross section is fixed
at one end and subjected to an axial load of 500N, the deflection under the load s found 1o be 2. 4mm, what
will be the amount of deflection under the same load if the dia of rod is doubled & Length is reduced to half
of the original length.

fay 1.2mm (k) (némm {cl i Jmmm (dy O.015mm

Yuar &3 A, T aF & ade 4 oder S of B B & i & wor w ———— FE

£n radial cams the angle between the direction of motion of follower 1o the normal 1o the pitch curve is
called
{a) ®H FICam angle (hy  FATT FOTCritical angle

{¢) ZJd I Pressure angle (d) ﬂﬂ_jﬁf #H FE ABINane of the above

Lea
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10.

11.

w3 dee S00N/mm? F AW dee e & e § B S R AR g oy @ W
Wt FTF 500kgt FiE e 3w wn & A 2 F HET oew WA e T ) amEeT  fav

g5 & HH =W (FHETH) {3 #fAn eve bolt is to he made out of steel having an ultimate tensile

strength of SO0N/mm’. I load 1o be lifted using this eye bolt is 500kef then using factor of safety of 2 find
the core dinmeter (minor diameter) of the thread for eye bolt,
(a) 4W{5ix) mm (b)  SV(5/x)mm (€  15%(5/%) mm (d)  2V(5/x)mm

fafEa A & g oo v & R TAAT AT §Which of the following is
dimensional formula for kinematic viscosaty?
() LM'T' By LM (& LT @ L M'T

tHEAT BT sRdE owRE @ aaRd v, FBE oamR UaEE weear ot T e e
#fEATE BET B/The only possible dimensionless group that combines velocity *V", body size “L", fluid

density 'p’ & surface tengion "o
{a) Lpa¥ by pVv L¥a ich sLVip dy  pLVio

A7 B} 1.5~ 104 s WA sgwar § awr Rffee eaew 06 ¥ kgims g A wiaE
Frifadt oar & An oil has kinematic viscosity of 1.5 % 107 m'/s and specific gravity of 0.6, what is the

dynamic viscosity in ki'ms units
{a) 0.09 kp'ms by 0.9 kg/ms (c) 0.009 kg'ms dy 9kg'ms

uﬁaﬂmmﬁﬁﬁ.ﬂﬁﬁm%mmﬂcm“mﬁmﬂﬁmﬁﬁcmFI'-'-11

ﬁﬁﬁﬁ&pmﬂ‘tﬂﬁﬂﬂ?ﬁr%’.ﬁmﬁﬁﬂﬂwﬁﬁﬁﬁmﬁfﬁmmm-amuhh

acting reciprocating pump if the area of piston is 200cm” and length of stroke is 15 em and crank is rotating
at 60rpm, then neglecting the losses, the discharge of pump is:
{a) & Litre / min b}y 60 Litre / min {¢) 360 Litre/min (d} 200 Litre/min

T O WATE H e IHE & FET 9916 & 0T FH £ 007 719 297 HS & is the
point in a fuid stream where the diameter of the stream is the least, and fluid velocity is maximom.

{a) ﬂFITEﬁ‘I'F;IETNem contracta (by  TERTEwE qIEE/Critical poim
(c) TUEH T Neutral point (d)  TEES ¥ & IEEPoint of centre of gravity

10 mis &3 & AT Im = & gedg O1ET F o qotadr sy s ) 9 1om warg e & e
T (T & SoT S 3TE 235 02m @ A MR TEOT & JOTE A # (A F g &

O 70T =10mis2) Water is flowing fully in a circular pipe of diameter 1m with a velocity of 10m's if

loss of head due to friction is 0.2m for a pipe length of 10m what is the coefficient of friction {assume
acceleration due to gravity g =10m/s’)
(a) 0.01 (b} 0.001 () 0l (dy 0.02

4 681 TA(MECH)



12,

13.

14,

15.

16,

17.

18,

19,

20,

v TEe aed 6% & Feeee 49 f Fe gom T 39 10 om ¥ IR FRAE AR A
TEE 49 @ % W Gom T & I0F AW A FE WG § AW GF F WA H AT

2247 om?, 1 3 & wEea & ol & BT Bl & The radius of lower base of a right ircular

cone is 8 om and height is 10 em, 1f a plane paralle] to its base cuts the cong at a height of Gom from the base
and the volume of frustum of cone is 224t cm’ then, the radius on top of fristum of cone is,

{a) Gcocm (b} 4dem (e} Jcm (d} 2com
[xlogxds=

(a) ¥ ({logx—1)2 by  logx -

(e) log x{v'-1) (dy P -1)-r

|im$ (V(2x + 35) —5){x+5)
(a) 113 by 16 {e) LS (d} 12~

AN Sin 3x = Cot 30 x Sin 150, Atfthen x is _
(a) 20° by 157 (€} 30° (dy 60°

ARENET =7 + 3y + 4x* + 6x = 100, Tithen (dyidx)y 4 is,
(@) -55/72 () =53/72 () -59/72 (d)y —61/72

Wﬁmﬁﬁﬂﬂﬁﬁ'ﬂﬂ,x?+[45r43]H'15=D$ﬂ#TmﬁTmm-—u'E." In &

quadratic equation, x*+ (V5 = Y3115 = 0, sum and product of roots are,
(a) (¥3-+5)and 13 () (V5 —v3)and -v15
{2) (V5 + V1) andV15 (d (V3 +¥5)and-v15

ﬁmﬂmaﬂmw*ﬁﬂ‘r.raxnbum:u.:rﬁ:heum:ua‘rﬁ’.!trruraquadrmuqmm
af+|:m+c-U,i!'b?—d_at=ﬂ,ﬂ1:hlhvﬂ'mm!lm'=.
{a) dTEATa® T A Real and equal (by  aFatas UF fAeT/Real and distinet

(¢) wicgd vg BAW/ Imaginary and equal (dy  =feud og e/ imaginary and distinet

o FeTET S A S qAT 6.15 G TG g9 4el v e gt & g & Fior w2 g
& 'What is angle between hours and minutes needle of analogue clock when the clock is showing time as
6:152

(a) 975° (b) 907 () B35 (dy 105°

ared ek ‘s & wEaE R & et Sehel S 98 e 6 T¥=ar BiThe radius of biggest
circle that can be inscribed inside of an equilateral triangle of side length "a” 15,
(a) af243) ib)  ai(v3) €  afd) (dy av32
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21,

24,

25,

—

ﬁﬂﬂﬂmmmﬁ.mmﬂn—ﬁwﬁﬂgﬁﬂﬁﬁm
Lithium-Bromide refrigeration system, Lithium-Bromide i used as

() FEA IREFIE/Primary refrigerant (hy e (fRsEiSecondary refrigerant

ic) IR Absorbent (d} ﬂﬂﬁﬁﬂ?ﬂﬁﬁmwnt‘ubum

= # wiftaw & ol # Tad aiFind the wrong ameng ihe following properties of ideal

refrigerant
(a) o= FEUATRLow boiling point

by s BEELow freezing point
(c) TwT Ao ITAILow Latent Heat
(dy SeeH TEETE TR Good chemical stability

‘R22 weles & fAT TR WA Chemical formula for "RIZ0 reftigerant
(a) T SR 318 el A Mono chlore di fluoro methane

(by ré wwR Hiw Ferdl #E /Tri chioro mono fluoro methant

f¢] =M FWH AW E{{T #riis i chivre mono fluorm methane

(d) =B FEA 14 ‘ﬁ!:-(’l' #Hréf=1 /Di chloro di flvoro methane

mmﬁd’rﬁqﬁﬁwm:ﬁ,nfamwwua*"rz'ﬁﬁm-ﬁmnmnwmm

25k)kg THT ‘@’ W SEAH WY 0.5 * ez & T I &2 in a vapour compression
refrigeration system, if liquid heat at temperature “T1° and “T2" are 100 k)kg and 25k/kg respectively and
the dryness fraction at 8’ is 0.5, find Latent Heat of refrigenunt

‘-III I
5.

|

() 200 kMg (b) 300 klkg (© 150 kikg (dy 350 kike

aier HrEar £ ofymmr fiRelative humidity is defined as

(a) =R TG AN ¥ affe o S F AU Weight of water vapour per unit weight of dry air

(b} & AEAA & Tee 9T W A # HTTWeight of water vapour per unit volume of air

e) m#m#ﬂtﬁmmﬂmﬂmﬂ;ﬁmﬂuﬁ:mmﬁ

arg ;,qql%“ #l/Mass of water vapour in B given volume of air to mass of water vapour if the air is
saturated at the same temperalure

(d) 39w A #F A None of above
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26.

27.

28.

3t

A F & e e Ore # Sy Feihd Jel s w §Normally, the
following condenser is used in big refrigeration system of air conditioning plants

Lt} Eﬁiﬁ?{F Fged/ Double wbe condenser

(b) 9Ie UF ZgE FEEd/Shell and tube condenser

(¢} I UH FEE FEAEUShell and coil condenser

(dy STRUT FEANL Evaporntive condenser

@ W AT o0 & wiNeeE s £ a1 341 over & v s § Fheem Per d@Ea0 §/When
shafis are intersecting ot 90°, then, which of the following gears are recommended for transmission of
power!

(ay  T97 TS pur gear (b FEW T/ Bevel pear

i) EfEse MaTHelical gear (dy  eFEeT AT Tumbler gear

o7 Wi T e A P wehE g -1 @ Which of the following machine employs
quick return motion mechanism?

(a) TEFT Ff=AMilling machine by amsfEEar AeAIGrinding machine

(¢} 9aeT A Shaping machine (dy R FEOrilling machine

s wp o s wve sER A AR & aifoa R 2 F v 9w F wge Bay
& Fhrar BWhich of the following is used in lathe to give desired direction of movement to the lathe
carriage vin lead scrow or the feed shaft?

(&) Fﬁ?ﬂfﬂu]l gear ih) FF R Change gear

(¢) #rex FrEMitre gear (dy TFEed AU Tumbler gear

e & gan Tt WY ger B, S o die & wene £ R R e R §. g wie 1 e
¥/ The process of removing the metal by cutter which is rotated agpinst the direction of travel of work piece is
called:

(a) 33 TATETDown milling by 3w FATETUR milling

(c) TITES TR Straddle milling idy 3 AEGang milling

S o A & A At af & SUAT S 5§ S - 67 §Which of the following is
the increasing order of cutting speed for cutting tool material?
(a) BT T £, HTeE S SSE, TUHTH, AUTATH U9 #
High Carbon Steel, Selid Tungsten Carbide, HSS, Cernmics & Diamond
(b)  ETE FET T, TAUHTE, SfHE S wds, AR vd i
High Carbon Steel, HSS, Solid Tungsten Carbide, Cernmics & Diamond
() BUTETE, wd S ww, FieE S S, TIUHTH U 8N
Ceramics, High Carbon Steel, Solid Tungsten Carbide, H55 & Diamond
(d) ST Fe we, SifaE Evreew wETSE, TavaTH U dNTHEE
Diamond High Carbon Steel, Sofid Tungsten Carbide, HS5 & Ceramics

7 681 TA(MECH)



32.

33.

35.

[T & FO gawl des f1 BT vT Apaw ww & W s g7 s ad § oA W
& ENE U HETEH & T H #H Fie & aU Ucs & Hod e TRAT U EH WS & 9Ied
# Fg f/Sapaing of thin patiern due 1o ramming can be overcome by constructing a supporting block
which may fit inside the pattern to serve as & support during ramming such a pattern is called

(n) HT T TEAMarch plate pattem (b)  EIET I8 9ER/Follow board patiern
() TaFe 39 Sea/Puil up pattern idi AT {9 e Lageed up pattern

¥ fAv HEd B/Mechanical pulverization, Electrolyiic process, chemical reduction
proess and atomization are the different processes emploved for:
(a) Werd A o & Mues § ogd B 1aE & BEomMixing of different constituents
before mefting of metals m furnace
(h) WFST Azl A OrFeT F1 3T Preparation of powders in powder metallurgy
(¢} WEETg & 9Raaw vg Hia/Cleaning and deburring of castings
(dy TiEcTH ¥ AT \ap TR e Surface finishing processes for castings.

A W TEH FUA FE-AT BWhich among the following statements is incarreel?
{a) 4R QT & adra A T § o O aiaad & '

If “eyelic integral of dOVT is zero”, then ¢ycle is reversible
(b) AR dQT & TR FAE A FH § A T A
If *evelic integral of dOVT is bess than zero”, then cvele is imeversible
(c) TS GOT & whid FATHA 170 7 Hit & a3 o 3Eaa 8/
Il *cyvelic ndegral of dOFT 15 greater than zero”, then cyehe 15 imipossible
(d) A& dO/T % THTT WA 0 W HUF T THA § A T Heenaoig &
If *evelic integral of dT iz greater than or equal to zero’, then cyele is meversible

o gafFes dfmr & el aua 2 kW @, I 27C F aca g &) afy 200 s et & =0
Fen & ve 20T WEO A O AT B W e g S aiee, FaEes & w9 7 i
¥ 3at B A w0, A & oA g o (9 e A skl S R ) Water @ 27°C is heated
in an electric gevser of capacily ZkW, 11 the geyseras Glled with 200 of water and heated for a duraton of

20 minutes, find the remperature of water neglecting all the hear losses, assuming pressure inside the peyvser
as constant {Toke specific heat of water a5 5k)fke)

{a) 72°C by S1°C (€} 65°C d) 40°C
I & RfEaw omEe e o # SEgAE BT 8iTriple paint of water exists at
__ emperature ___ pressure
() 3ITAAEK, 6112 Pa {1} 27316 K, 61102 Py
(e} 273.016K, 6112 Pa {dy TR 6 K. 61102 Pa
8 681 TA(MECH)



af,

40.

e # Bu v 91 §7 e & T adEs G willdentify the compressar for the PV diagram shown in
figure

() UHE TIOT HAEHISingle stage compressor

(h) & =0T FEEF Two stage compressor

(¢] BETHEIEN & T Zfd avor FHEETwo stage compressor with intercooling
(d) FT AET & BT A SO FUIEE/ Two stage compressor with heat addition

10m/s, 100kpa F41 1m? kg # T @ ASF & AR # tkgls 1 & 9 9g AEr waiga
F3d § A 6mis, 800kPa TF 0.2m? kg & WE & #| 9 BiF & ¥ FNE IS O wdw
w # 100kJikg 3T0F B wdhew dwe & wR aw 100kwW F W W TG F I waeiig

Fie 6 T oow oS F ax w@' WA flows steadily at the rate of Tkp's through an air compressor ol

10ms, 100kpe and Tm' kg and leaving a1 6ms, 800kPa and 0.2m" /kg. The internal energy of the air leaving
1. 100k kg greater than the air entering. Cooling water in compressor jacket absorb heat from sir at the rate
of TRIEW, Find the rate of work done.

(a] 260 kW (b} 480 kW (c}  I20kW () 540 kW

FE Sard 7 Zerar dewr F e st geramner i wtad & o T = } A T2 i
EMore effective way of increasing efficiency of Camot engine where T1 is source and T2 is sink is:

fa) 'I'Eﬂﬂ'miﬁﬁgﬂ'ﬂ FT TGN Increase T1, Keeping T2 as constant

(b) T o1 T T8 §U T2 %0 921 Decrease T2, Keeping T1 constant

(c) EETCN FEET HEHT Eﬂncmasing efficiency is impossible

id) ﬂﬂiﬁ # W5 FEMNone of the above

T 10006 O FiF AISHT 539, 0 & "1 1000rpm 7 9@ | afE dea vt 2 400kpa &

GLIEE e &y Zerar 0.5 A a5+ & @9 9 BT £/0n a 1000CC four stroke 1C engine with crank mumning at
| (Md0rpm, if the mean effective pressure is 400kPa and efficiency of engine is 0.5, then break power of the

engine is
{a) 373 kW () 4TEW {ch 35 kW iy TAEW

] 631 TAIMECH)



41.

42,

FTefET & & Sela-oais &% 9957 W8/ Choose Kelvin-Plank statement among the following
(a) UH T @E A Agad Iomida FeT A I o & AT anme g 3 vee e an A

st & mry & v AFET &0 § 1 is impossible for a heat engine 1o produce net work in a
complete cycle, if it exchangss heat only with bodies ata single fixed temperature

(by uw By, S e & wwee o aElhe & el s e S W g

7 SO TR & WHEET F1E 9T AT A8 FAT is impossible to construct a
device which, operating ina eyole will produce no effect other than the transfer of heat from o cooler
to hotter body

{c) W vundy gda @ E.’."Fnl;rnp}' of upiverse 15 always increasing
(d) 3"4‘-?1&"?[ A #% AfiMNone of above

I A FICEET FHSG TR O ST W WG AEaE 7§ o TUT2 e TIT3

AT & HANA FAW e B B three coplanar concurrent forces acting at a point *0° are in
equilibrium, then mtios of forces T1/T2 & T1T3 respectively are

T i
N P
N
1m-:"| 1y
1 2

!

T3

(a) v3and V32 (B) Y372 and 43 (e} | and % (dy  “and ]

TAd o ie-mr Fud e q‘lﬁ'ﬁm o TE A TEA & Which of the following statements is false

with respect to simple pendulum?

() Ffter degem H SR B & o B A BERe B § geree § aaeeies
&/ The time period of simple pendulum is directly proportional to mass of the body suspended at the
free end of string.

(by TRE drgew @ e e & da8 & F=Ea F F @A E 8 The time period of
simple pendulum is directly proportional 1o square root of length of the string.

(c) TR YrgeEw & woEl FE F FE0 &0 F PR R F FAETES §The time
period of simple pendulum is inversely proportional to square root of sceeleration due to gravity,

() THTIE degew & e B & fBu & Geifta Wy & gemwe o R A Y The
time period of simple pendulum does not depend on mass of the body suspended af the end of string,

680m Fard & uw zv & TRym cafdw &8s R & 300 #ior A 40mis 99T F W OUF O
sw & AR e B oan] @ FfOwos 3R W aw 4 W 06F FE § $E FET g

WA & g = 10misTyA person standing on a tower of height 60m throws an object upwards with a

velocity of 40mfs at an angle 307 1w hnrizm:lnl- Find the total time taken by the object 1o gain maximum
height and fall on the ground (ke g = 10m/s7)
(a) 3s (k) 20 (&) 6% (dy 168
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45.

46.

47,

48,

43,

80,

51.

‘v #e s ud Nopm $ 7f & 9 'm kg wemER e A s AuEd @9 F S B
iz i @ o s @ T U TER 0F AR a9 W @ S 8 & A od S

FAY: @ #The centrifugal force acting on a body of moss *m” kg rotating at a radius of 'r' metre and
speed of N rpmiis ‘F* newton. 1 the centrifugal force need to be doubled either by keeping radius constant ar
by kecping speed constant, then the speed and radius respectively are

() VIN,2r by +5M, 2r (€} 2N, 2 id) 2N, 42

vE A& # S 20 kmph 3T & F@Y waiRa w1 § oo vw Al uw oae @ gEl a1 AR
wd W B of Ate & A = f Bwr F FEaa Bwr 7 20 kmph § w8 £ R 2km

oo sd o Raw & AT AlFr &1 & BHT E?'-ﬁ'I!T%3?ﬁ'n'leaturmaﬁ!reu.misﬂnwhlgwiﬂiﬂ

velocity of 20 kmph and a boat is travelling from one bank to another bank, if the velocity of boat in-a
direction perpendicular to direction of stream is 20 kmph and width of the stream 5 Ikm, then the time taken
and the angle at which boat makes with the direction siream is,

(a) & min, 45° () 9 min, 307 (c) 12 min, 607 (d} 9 min, B0°

1000 m & &% % 90 kmph AT 9T TEaT § @7 1000 m ward € UF qF oW A

oW O A & Rv Fea @Eg amanns BI1f a train of length 1000 m is cruising af a speed of

90 kmph and crosses a bridge of length 1000 m, what time does it take 1o completely pass the bridge?
(a) 254 {hy &8s fch s (dy 400s

gyA S Icdtes A, 514 8 BRi-HT FET &I a first order lever, which of following is frue:
(2] #iF i weww & drg = B/Effort is between Load and Fulerum

() W MY Wig & 9 Gomnd BFulerum is between Effort and Load

(c) wows T vare & @19 @iE &/Load s between Fulcrum and Effort

(d) ITHFT 7 FI5 A None of the above

werd Fras mfte aommr fow & sl B 3@ FEd F/Substances in which the measured
properties are independent of direction are called

(a) TS e Homogenoous substances (b))  AFATIE YSM lsotropic substances
(¢) TAwARAES ¥ Anisotropic substances (d)  TRETETSE ST Crystalline substances

T FEA T H Fa B 9TAvaPercentage of carbon in high carbon steel is:
fa) 0,15 to 0.25% (B}  0.25100.5%
(e} G610 14% (dy  1.8% W FUEL Greater than 1.8%

9 EERT & TR wsd wfemr Flaar EWhich of the following process is not used for case
hardening?

(a} FTAIBRCarburizing (b)  TEEEETNitriding

(o} TTEATSTET Cyaniding (dy  AEAETEENomalizing
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53.

55.

36.

al.

meatatda & g2t & gaaeg & gear &3 — ) Following is the decreasing order
of density of material

{a) IS, T, ﬂ%ﬁ'ff"ﬁlﬁ Wﬂ'ﬂ'ﬂungﬂm. Copper, mild steel, Aluminum

ikl Eﬂﬁﬁﬂﬂ, FEH FHI, HITL, SIEEA (Aluminum, mild steel, copper. Tungsten

(c) FEH SEUTE, T, TIEEH, He[FTaaA! Mild sieel, copper, tungsten, Aluminum

(d)  =Io, TR, HEE SR, S Copper, aluminum, mild steel, tungsten

TR & TTEAE & aUAE FH O WRTafEE # ————— BiFollowing is the increasing order of
melting point of materls

(a) TRTET, S, IR, IR =TA]Silicon, ungsten, copper, aluminum

(b) &R, Tofeea, Hﬂﬁﬁ'ﬂﬂ'. AR Copper, silicon, aluminum, tungsten

fch mgﬁﬁw, FIaT, oA ST, e [Aluminum, copper, mild steel, tungsten
(d) ZIEA, FEH FEOE, T, WA [Tungsten, mild steel, copper & Aluminum

Re v B AW A, fege wEOu § 2w RER GRRWGUL A EifEe oRade

FEe E."Fnr ik given strai pauge, rélative change in electrical resistance to mechanical strain

(dR/RM(ALIL) is called,
(a} Wi G/ Stress factor (bl WHEIT OEE/Gange factor
(¢) TSI Resistivity (d)  TATE HFATE/Poisson's ratio

Alerar L & ﬁmmg EMonel metal is an alloy of
{a) T UF FS/copper and zine

(b} T U8 aﬁﬁ:ﬂ'ﬂfﬂupp:r and bery llium

(e) 9T Td FFA/Copper and nickel

)y AfAREREE v e Molybdenum and nickel

SeA W UATH F F-E RIS EAN e EaHe A6 #Which of the following Tsotape of
Tlrmanium ﬂuﬁi not exist? _
(a) U™ k) U™ (s) all™ (d) ol

U SFOCH olage A Aig ¥Ecdc A ses BT & w600 ¢ & g fteme & st

ZadTioid SETAT BIAT &f1n an impulse turbine if angle of blade tip ot outlet is 60°, the maximum hydraulic

efficiency of the impulse turbine is
(a) B (k) 75% e) el (d) 60%

lkg 387 & Aq Zg9 & TAT A0S HiEESS $1 ATENQuantity of oxygen required for complete

combustion of kg of methane is
(a) Tkg ib) Gke (e} Skg dy dkg
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59, @Y ZHF AEAT 3 | FA-HT §Which of the fallowing is o water tube boiler?

81.

{a) FrETE FAETCochnn boiler

(b}  FTER AT Lancashire

(¢) Egwd e FTaad/Rabeock Wilcox boiler
(dy  FrErATEE S Locomotive boiler

AE FEET/Match the following -
J\“\ T=C B, I
.=ll H“‘H-h 2 P T2 "
r 'y Taf T T f
3 3 2
- L R
i £

(a) A- e TEFAICamot eyvele, B-UTFRT AERFE/Ericsson cvele, C-2hae BmafhaiDiesel cvcle,
D- ST S AEiee Dual combustion oycle

(b) A-FETETT AEFREA Serling cvele, B-Fee AEE@Camot cvcle, C-EFT &Fa A5 Dual
combustion cycle, D- 3BT AERAAIO00 cycle

{e) AFCTHT @EHE/Serding cyele, B-THEHEs AmEEal Ericsson cycle, C-3TET AR One eycle,
D- BT Zfa |E ey Dual combustion cyele

(d) AFHE FERRAICamot cycle, BFET AERRE/Sterding cycle, C-31EY ¥SfFE/OM0 cycle,
- froe AEiEFE/Diesel evele

UH STOAT WEIEE, F7 GOe ¥ TeE H 31 ow O F Rv g § 9 saet A

e AEd T # AR AT M a1 A FWAT H T9 RUA boiler accessory that is

used 1o put off the fire in the fumace of boiler when the water level in the boiler falls below safe level and
prevent over heating of tubes

(0) EF AF FFA/Feed check valve (hy =T T FIHBlow off cock
(c) wRTEs cEFusible plug (d)y FEW FI9 9IediSieam stop valve

mwmmﬂmﬁmw*mnﬁﬂmmm HAMTST

&T+1 1 BTAET &7, IH WOTHET i —- B E'When a CNC system s capable of mitomatically adjusting
the speed and feed parameters according to actual cutting conditions the system is said 1o have

(a) WrmETEE AfEE BEIProgrammable logic contmol
(b} w FAIT Adaptive control

{c) UETE HEARA® FIREUIDirect Numerical Control
(d) FEaitad Afd FEaEeTAutomatic speed control
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63.

B5.

BB,

67

H@m,ﬁmmhﬁﬁﬁ,hﬁﬁm#mﬁmnﬁmﬁmmﬁn

rotary actuator which enables preciss control of position, velocity and scceleration of slides in CHC
machines is

(a) TAFISTEncoder by  TEwET Resolver
(e} SesFeTiE/Inductosyn (d)  FATAREYServomotor
AEE #, SCARA 98 ——— & TREU g #in robotics the term SCARA is an acronym for

{a) FTIEE dhoad weies wiEdEs e A Special CNC contralled Articulated Robot arm

(b) BT Feaae WA e HHSelective Compliance Assembly Robat Arm

(c) BEEweeE MR (EEE JA Sl Controlled Automatic Robotic Arm

(@) FEEd wiies SoifEae AT I9RF APUSandard Cartesian coondingte Automalic

Robetic Arm

Jﬂqﬂagmﬁrfhﬁﬁ#m-———ngﬁmﬁﬁ s ususlly
employed in open loop contral system

(a) TET #ETServo motor (h)  EEUT HIEUStepper motor

() B Rietinduction motor (d) FIFE 2 HEdBrushless DO motor

Hiz=fam satem 9 wndr &9 & Teuw oA o wae A FEes & g mEE AT W g

FARE Zanr whEd Ag d@ar § & 30 ———— WE Fh #/In CNC part programs commands that

remain in effect in multiple blocks until they are changed by another command from the same group are
called

() FEweE FAwEN/Sundard commands (by  FAEA HAEHEModal commands
(¢) seHES FAFsENonmodal commands  (d) fafar FAFEEMiscellancous commands

drrdidors & AT oE @9 §in CADCAM the term “PLC stands for
(a) WET Atfars FHETA/ Process logic control

(b) WRTANE AfdE FEE Programmable logic control

(c) UITEYS WS FCI Position logic control

(dy 4T AfewE FEE/Parameter logical control

m.mﬁnﬁﬂﬁﬁﬁmﬁaﬁmﬂtmmmmmﬁﬁm
£/ MThe scrap which is expected or predetermined and its effect is taken in to account ul the time of cost
estimates is known as

(a) WATETAE FRA/Administrative scrap (b) Y BFY/Legitimate scrap

(c) ¥qol FHMDefective serap (dy  FudEE 7 FE A None of the above
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69.

70

71,

T2

73.

74,

75,

farir wieamger s @1 O g=A Stea w6 B/Which of the following is not a method of
fimancial incentive paviment?

{a) FTEAT HE@TE @ Halsey premium plan (k) FeFn BfFTR A Bedaux premitm plan
(c) TrEe WiATH oA Rowan premium plan  (d)  F=E-g WAZE SHEhonson’s premium plan

A T & Wl O e & FAT FIFT F §/n motion study the symbol 0 is used for
(a) fAeEDelay (b) EEStomge
(¢} T Inspection {d)  WEToe Operation

i &, ve mfe & ofged Foens T 39 oUW aew @ AUE & FY
qFU FR w0 gu 99 F gl & Fewm am RefEE S @ method

depreciation amount per vear for a machine is calculated by substracting scrap value of machine from its
original value and divide the remaining by number of years of useful life

(a) FHAE e AeDiminishing balance method
(by TR s DiRSinking fund method

{c) iR S BFY Annuity charging method
(d) e T HTSnight line method

TE A e K A H TAFEET a0 §Gantt chart provides information about
(3] FEENET S 39E/Utilisation of manpower

(h) mrARE & H@9fe inventory of materials

() 3PWE FAEAVProduction schedule

(d) Feu qEiHAISales forecasting

g & FAfED geea o FEa § organisation is also called as military
organization.
{a) EEFUARFunctional (b)  FE/Line
(¢) TI5F TG FEIH/Line & staff (d) FwEE F FF AFYNone of the above

S0cm =0T U4 7Scm SamE & v S RARET & wh el w A e S 8 ol e

wifts i e ofd FEE @eR & WT w0 @ @ me R @ $W AEE A solid

eylinder of diameter 50 cm and height 75cm need 10 be chrome plated at all the surfaces, if cost of chrome
plating is Rs 1 per sq.em find the total cost of chrome plating. Assume x=5.14
(a) Hs 15700 (b} Rs. 31400 (c) Rs 47100 (d) Rs 20400

9% & W A FAGE BAR F @ 3 Y F wiesE F97 F Finersection of a solid
cone with & plane parallel to axis of the cone will generate

fa) ﬂﬂ{fﬂfﬂlipﬁ: (h) Wﬂnngh
(¢) UETENParabola (d)  EEUFETEHyperbola
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